2022F IZNFETIYMINKE REHER
6ELEDER
12H18H(H) 2+ 8:30~9:00
B8] [cam 2| EvF A | EvF B | EvF C | EYF D | EvF E | EvF F
] HeES 1 7 13 19 50 60 |
1 9:30~9:45 L VS dAH(FR) FE(K) VS EE(E) AHE) VS wER(E) R Vs WA BEEH(E) VS K@ ##d  VSERE-KRR(E)
L E 3] FILLCR ) L L] ERE-FRHR) EREEGR) SHBE BILCE) |
HEES 25 31 37 6 43 53
2 9:50~10:05 Al#E VS EE AHE VS %5 #L Vs FH] KRIE(HK) VS FILCHKR) SHESE VS K FIL(E) VS =GR
L =1 =% ARIFE(H) =FE B KIE(H) Ll
] HeES 12 18 | 24 30 52 62
3 10:10~10:25 AHMBEH) VS FHBE #E VSERHE - FR(FK) SHEE VS EFERGH) EH(H) VS = AME VS  RIE(H) BERE-RR(F VS HHch@
L E 30] FECH) L5 (E) | 1o ABE £+ 2176, D) Erie ]
] HEES 36 42 2 a4 54
4 10:30~10:45 =] VS ATE(E) EEF) VS = L VS RIE(H) SHESE VS EEHGE) FILCE) VS ®db
L =4 KHR il EH(H) P ] [T x 30 316 D)
] HEES 8 14 20 26 49 59
5 10:50~11:05 FRE(EK) VS AMBEH) 5(HE) VS #ER ] VS SEs BEwE VS BE(E) P VS RIK(H) EH(#k) VS EHeE
L E 30] ¢, D) E106, D) We EX SERE FILCE)
] HEES 32 38 5 11 45 55 |
6 11:10~11:25 AHIE VS A #L VS BHE(K) EAHGR) VS RLWCHK) EL(®) VS FmE SHESE VS  AHE FEIL(E) VSERR-HR(E)
L =4 E1) Fik KIE(H) AHECHR) EELE) EriE ] |
HEES 17 | 23 29 35 51 61
7 11:30~11:45 HR(H) VSERE -RR(FK) ]| VS EFEEL(H) EE VS = bt VS AME(E) BEH(E) VS REH) EHE VS BHPH
L E 20) B | SEB BH(E) L] Kl BE(GHR)
] HEES 4 3 9 48 58 |
8 11:50~12:05 FH# IE 1] L] VS RLCHR) BRGE) VS HBEB@E P VS k@ EL(k) VSERER-RRE(H)
L =4 BEGH) H(H)  £26.)) RIEE) B |
] HEES 15 | 21 27 33 46 56
9 12:10~12:25 5(E) VSEREE-RR(HK) ] VS EFEEL(H) BlE VS = AMIE VS AMEH) SHEBE VS  KEH) FIL(E) VS EFchdl
L E 20) FE(E) | e EE 1) Kl BE(GHR)
] By 39 ! 10 16 a7 57
10|| 12:30~12:45 #hl IE 1] EABGR) VS KIKCGHK) EH(H) VS AHEHK) BR(E) VS #EB P VS ER(E) =H(HR) VS EHd
L E 30] Fi Ll R 17216, D) AHE ERN-FR(E)
] HEES 22 28 34 40
1|| 12:50~13:05 #A VS SE# k-1 Vs EBHE(H) %5 VS s FHk VS EBHE(FK)
L E 30] 1.1 f51. ] AHIR il
| 18 —-nN
] HEES 1
11 13:30~13:45 A1{i VS B1fi
L =4 Y—JH 22 OME
] HEES 2 3 3 5
12|| 14:00~14:15 10B%E VS  Clfi Difii VS E1fi FIfi VS  G1fif HifiI VS 111
L B9 b=Fxb 1 OME -7 28 OME \)—-J# 34 OME V-7 40 OBE
] HEES 6 7
13|| 14:30~14:45 20E VS 3oOBE 4ADBE VS SOBE
=3 b=F22b 2 OME b=F2Ub 3 DME
HeES 8 9
14 15:00~15:15 6OME VS TOME 6DBE VS TOBSE
L =4 b=Fx2b AOHE b—=FAb SOME

x&ExX 15:30lHEHOFE



